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.Chapter 9 Exam Review

Short Answer
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The pair of points is on the graph@ation. Find the
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. The distance a spring will stretch varie@vim how much weight is attached to the spring. If a spring

stretches 6 inches with 95 pounds attached; far will it stretch with 75 pounds attached? Round to the

nearest tenth of an inch,
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The time ¢ required to drive in-distance vari@ the speed . If it takes 4 hours to drive
the distance at 30 miles per hour, how long will it t ive the same distamce-at.43_miles per hour?

)‘-ﬁ; '-—*zj‘a- (“D (3

1j‘ Ko Mo
The values (6.4, 4) and (x, 2) are

nearest hundredth.
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A drama club is planning a bus trip to New York City to see a Broadway play. The cost per person for the
bus rentalVariesinversely'ys the number of people going on the trip. It will cost $26 per person if 68
people go on e TP HoWw much will it cost per person if 33 people go on the trip? Round your answer to
the nearest cent, if necessary,
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Suppofe? at x and/y vary inversely, and x = 7 when y = 11, Write the function that models the inverse
variation,
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Is the relationship between the variables in the table a direct variation, an inverse variation, or
neither? If itj'f a direct or inverse variation, write a function to model it.
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Graph the function. (__‘(\__ '%_
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Sketch the asymptotes and graph the function.
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